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Solving Exponential Equations using the One-
to-One Property (No Calc)

Hint: Rewrite non-exponential side using the
same base

- Ax+1 X =
Exanzplﬂ: 167)(1_4\ ampl K( )
4= 4 (
= Pl :I> & a

Example 3: 3X* 1. Example 4: 2%-2 _ i

5 c;\x ~Z _ Z:g

— —
S E




Solving Logarithmic &
Exponential Equations
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No Warm-Up Books

Warm-Up will be handed out



Section 8.6
Solving Logarithmic
& Exponential
Equations

Example 1:
Solve logsx = log312

N1

Example 2:
Solve log(2x - 1) = logx

-

Example 3:  Solve logs(x® - 6) = log410
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Ex.1 Inx=-3 Ex.2 logx=-1
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EX.5  Jogs(2x + 1) + |093(2) logs(5x)
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Ex.7 log(bx) + log(x - 1) = 2

2 ¢ X /5(
= HX
10 = o (e

Ex.8 logax -JI:)94(>< -1)= >%< \
\03% M) S '

L X 3 g
LI’/E'ZT(:\ %rz’x X,Z J




Ex.3 logx + log(x +4) =1

Tog, (K+A%) = |




Example 10 - If you had $2000 to
invest in an account with an APR of
6% (compounded monthly), how
many years would it take for the
account to be worth $5000?




Example 11: You have deposited
$500 in an account that pays
6.75% interest, compounded
continuously. How long will it tak
(round the years to the nearest
hundredths) for your money to
double?







